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ROUND1-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 PET BEK (AiTF) T IEA 16.38 7.02 23. 40
2 |FRER PREE (FFi ) A 15.68 6.72 22. 40
3 |MEE BE ON/i) A 15.68 6.72 22. 40
4 |RKS A (BA) A 14.84 6.24 21.08
5 |BEEF i (=raF510) D 14.70 6.36 21. 06
6 | =i HE (R T IEA 14.56 6.18 20. 74
7 |=Lk B (AkF) A 13.72 5.82 19. 54
ROUND1-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
L[l =—1 (= o ) Ny YA LA 17.22 17.26 24. 48
2 |thm [t ) DT IHEA 16.38 7.02 23. 40
3 (AF R (F&H1) A 15.40 6.48 21.88
4 |RI Chrl) A 14.98 6.48 21. 46
5 [EifE K (F5H0) A 14.56  6.24 20. 80
6 |EfE (GFE7) D N 13.86 5.94 19. 80
T (B R (HFH) NI UEA 13.86 5.88 19. 74
ROUND1-G3
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1 [ElE R (FFib ) Nyt A 16.94 17.08 24. 02
2 [EE BE (F=A%) Nyt B4 16.24 6.72 22.96
3 |RE st €9 D 15.12  6.42 21.54
4 & Ix (A ) A 14.98 6.36 21. 34
5 |RE HIR (e=h) T IEA 14.84 6.30 21. 14
6 |JNE i (R A 14.70 6.30 21. 00
TR MRS (Aek) T IEA 13.30 5.88 19. 18
ROUND1-G4
NEAE 4 Hi il ¥4 TEC  ATH Total
IR E SIS ) (& H) NI UEA 16.94 17.08 24. 02
2 |HE EfE (FHFE) A 15.82 6.84 22. 66
3 | T W (79%5) NyPA LA 15.68 6.60 22. 28
4 |KI ABE (i) A 15.40 6.60 22. 00
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5 | X (Zz i Bl Ve 15. 12 6.54 21. 66
6 |8 HAT ONE A 14.14 5.94 20. 08
ROUND1-Gb5
JIEAL £ Hi i) e 4 TEC = ATH Total
1 [BRE  KBG (B0 e 16.24 6.84 23. 08
2 |5 ALA (BEIk) VINYAE 16.10 6.84 22.94
3 |H HE (RiTH) D e 15.40 7.14 22. 54
4 |[HEELA B (RkF%) e 15. 12 6.60 21. 72
5 |f R (B%E) D Ve 14.84 6.48 21. 32
6 [k u (HHD) D e 14. 42 6.24 20. 66
7 |fER ARk (BLED) Fo 14.14 6.06 20. 20
ROUND1-G6
JIEAL £ Hi )& B 4 TEC ~ ATH Total
1 [ilhe R () A 17.64 7.20 24. 84
2 |EE B (LRI ) Ny A5 16.80 6.90 23.70
3 |HEE FEI &) JF 15.82 6.60 292. 42
4 |fEH HHE (fZ31R) Ho 7R A 14.42  6.30 20. 72
5 |femE Rk (k) v 13.58 6.06 19. 64
6 |#k BHE (P[] ) JF 0.00 0.00 0. 00
ROUND1-G7
JIEAL. 4 Hi i) B 4 TEC = ATH Total
1 &R R (5 H) H R A 16.94 7.08 24. 02
2 |RER (Kah) VINYAE 16.24 6.90 23.14
3 kA HER (AL#RB) t—s3q 16.10 6.90 23. 00
4 [E R (A vEE ZF KA e ) A 15.40 6.48 21. 88
5 |HB B Abp) D e 15.26 6.24 21. 50
6 |#Ex A AL €29 VINYAE 14.70 6.18 20. 88
7T |EE WF (MsH) D Ve 13.58 5.82 19. 40
ROUND1-G8
JIEAL £ Hi )& B 4 TEC ~ ATH Total

1 |fFE RE (EEEP) — g 17.22 7.20 24. 42
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2 |Bpr RERK (FHE) JF 15.54 6.48 22. 02
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3 |4 EKEA (AiTH) NI UEA 15.12 6.48 21. 60
419 A (AR HD) Nyt A 2 A 14.84 6.06 20. 90
5 [ETF BEK (##P9) NyP A LA 14.00 5.88 19. 88
6 |fEE 2 022:9) A 13.44 5.58 19. 02
ROUND2-G1
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
L3 =— (ED ) =—/3A K 17.50 17.32 24. 82
2 |MhH G- #%) T 17.08 17.32 24. 40
3 [ET BEK (AiTF) = 16.38 7.14 23. 52
4 |5 Bt (FEB) TUE 15.82 6.72 22. 54
5 |#hEL AR (FFi ) T 15.68 6.60 22. 28
6 |fHEE B (RIFRHD) TUE 15.54 6.72 22. 26
TR Ak (BA&) T 14.56  6.30 20. 86
8 K i Crlz) NI ay 14.28 6.18 20. 46
ROUND2-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
IR E SIS ) (& H) TE 18.06 7.62 25. 68
2 |HE EfE (FHFE) TE 17.50 7.44 24. 94
3 |WE R (FHE ) =—/3A K 17.08 7.20 24. 28
4 |'Fi W (P5%7) =— 31K 16.94 7.14 24. 08
5 (& BE (=A%) == R 16.24 6.78 23. 02
6 | KM AEE (i) NI T ay 16.10 6.84 22. 94
7 iR Lt () TE 15.40 6.72 22. 12
8 |l X (FA ) T 14.70 6.18 20. 88
ROUND2-G3
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
IO (R 72 (FHE) TN T T 17.50 7.26 24.76
2 |JEER EfE (LRI ) =— 317K 17.36 7.08 24. 44
3 1A ALA (B24k) T 16.24 6.84 23. 08
4 | KB (BH A% NI ay 15.96 6.60 22. 56
5 |k HE (AiTF) T 15.54 6.78 22. 32
6 |[BHEE AT (&) NI ay 15.54 6.30 21. 84
7 [BEE HIE (1Z) v 14.98 6.36 21. 34
8 |MEErE Bk (Fklz) T 14.70 6.42 21. 12
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NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1 |ER PR (& H) TE 17.78 7.44 25. 22
2 N E RE (& RE) TN T T 17.36 7.44 24. 80
3 [k#E HEK (AL#H) TN T 7 16.52 6.90 23. 42
4 |RER A ON:ii)) T 15.82 6.90 22. 72
5 | = KB (AiTF) = 15.26 6.54 21. 80
6 |5 WA (AbifEE 20E K@) NIy ay 15.26 6.48 21. 74
7T (I A (FFi ) =—/3A K 15.12 6.36 21. 48
8 |Eprh Ak e TE 14.00 5.82 19. 82
SEMI FINALS-G1
NEAE 4 Hi il ¥4 TEC  ATH Total
1| =% i (& H) AV avTARvay 17.50 7.56 25. 06
2 | =8 (= o ) A== g 16.94 7.26 24. 20
3 |WE R (A5 SR—TF =L 16.80 6.90 23. 70
4 |MHE [t ) V2T ay 16.38 7.08 23. 46
5 |[lkE EfE (FHFE) A2 REA 15.96 6.72 22. 68
6 [ET BEX (AiTH) NI IHEA 15.26 6.66 21.92
7T W (VaEF) Fy¥ XY T7 7 —Hr 7 —][15.12 6.24 21. 36
8 |4 Tk} (&) V2T ay 14.28 5.94 20. 22
SEMI FINALS-G2
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
IO (R 72 (FHE) A== A 17.22 7.26 24. 48
2 B b R (L& RE) A== A 16.80 17.08 23. 88
SI =0 W) (& H) A= 16.80 17.02 23. 82
4 |VEER  EE (LRI ) A== 16.52 6.72 23. 24
5 |REn g ON:ii)) T IEA 15.82 6.78 22. 60
6 s KB (BH A% A 15.26 6.66 21.92
[ N (N (B24k) Va2 yvRvay 14.98 6.72 21. 70
8 k& HEK (AL#R) IR — 14.98 6.36 21. 34
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1|3l A=—8A (5o r) FxZr¥I7 7 —Y%or—|[16.94 7.26 24. 20
2 |'EJR IR (JEH) V2R ay 16.80 7.26 24. 06
BRONZE-G2
JIEAL £ Hi i) e 4 TEC = ATH Total
1 |FE R’ (= RP) TNV T 7 17.64 7.50 25.14
2 |&m &R (FHEH) FxZr¥I7r—V%or—|[16.52 7.14 23. 66
GOLD MATCH
JIEAL £ Hi s B 4 TEC ~ ATH Total
1 [ilhe R () TN T T 17.64 7.38 25. 02
2 | REE (JEH) A — 16.52 7.08 23. 60




